PROPRIETARY AND CONFIDENTIAL REV| ECR DESCRIPTION DATE BY

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF A -
CAPSTAN AG INC. ANY REPRODUCTION IN PART OR AS A WHOLE 2414 | Production Release 9/29/17 |BLS

WITHOUT WRITTEN PERMISSION OF CAPSTAN AG INC IS PROHIBITED

Red 4"

. 4 s * +
\&
e

Black 4"

&>

Red 11" e
@E@ 4
Black 11"
N~ Apply Loctite 3900 Comformal
@0 Red4"| +{+ + + + + + = Coating to Connector Boards

@ TBlack4’_+ + + + + —y

\
\\‘|h

Oz Red 11" N . 21| 320500-250 | Application Code 2.50 1
G Black 11" e N J ‘ 50| 708000-170 | Wire, 16 Ga. Black, GXL 2
. r_. 19| 708000-147 | Wire, 12 Ga. Black, GXL
@o-Reda] T[F T T F F 7 X ‘ 18| 708000-146 | Wire, 12 Ga. Red, GXL 41
gk arl_+ + o+ o+ — Double Nut the < 17| 118640-022 | Ribbon Cable 2
Top lugs ) 16| 118640-021 | Fob Antenna 1
a L 15| 715005-110 | Ring Terminal, 14-16 ga. 3/8 2
14| 715005-147 | Ring Terminal, 10-12 ga, 3/8 10
13| 713501-903 | Nut, Hex, 1/4-20 w/K-Lock 1
12| 713501-905 | Nut, Hex, 3/8-16 w/K-Lock 6
11| 709031-905 | Screw, 1/4-20 x 3/4 FHM, Stainless Steel | 1
10| 709031-903 | Screw, 1/4-20 x 1/2 FHM, Stainless Steel | 3
9 | 709031-206 | Screw, 6-19 x 3/4, Plastite 40
8 | 715005-166 | Stud, Junction Block, Red 1
7 | 715005-165 | Stud, Junction Block, Black 1
6 | 118640-027 | Top Housing, Gateway 1
5| 118640-037 | Bottom Plate, Gateway 1
4| 118640-007 | Connector, Right 1
3| 118640-006 | Connector, Left 1
2 | 118640-005 | Connector, Top 1
1| 118640-004 | PCB Assembly, Main 1
e Item Part Number Description Qty
Apply Loctite 3900 Comformal @
Coating to Connector Boards ‘ Ca pSta n AG
Name Date TITLE:
Notes: orawn | BLS  |9/29/17 Gateway Hub Assembly,
Checked Ae rlal
1. Boot Code: Boot.Hex e QAAPP
SIZE DWG No: REV
2. Application Code: 2.50.Txt. B 320200-100 A
SCALE: None SHEET 1 of 1




	Sheet1
	Drawing View9
	Drawing View11
	Drawing View13
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View29
	Drawing View30
	Drawing View32
	Drawing View33
	Drawing View34
	Drawing View35


